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         1     (PAGES 4 - 37 UNDER SEAL/PROCEEDINGS IN OPEN COURT.)

         2  BY MR. BOIES:

         3  Q.   GOOD AFTERNOON, PROFESSOR FISHER.

         4  A.   MR. BOIES.

         5  Q.   DURING HIS CROSS-EXAMINATION OF YOU, MR. LACOVARA

         6  ASKED YOU SOME QUESTIONS ABOUT HOW MANY HOURS YOU HAD

         7  DEVOTED TO THE PREPARATION OF THIS CASE THROUGH, I THINK

         8  IT WAS, SOMETIME IN SEPTEMBER OF LAST YEAR.  DO YOU RECALL

         9  THAT SUBJECT?

        10  A.   I DO.

        11  Q.   HOW MANY TOTAL HOURS HAVE YOU DEVOTED TO YOUR

        12  ANALYSIS ABOUT WHICH YOU HAVE TESTIFIED HERE AT TRIAL?

        13  A.   BEFORE TAKING THE STAND, LAST WEEK I DEVOTED ABOUT

        14  330 HOURS TO THIS.

        15  Q.   AND COULD YOU JUST DESCRIBE BRIEFLY THE THINGS YOU

        16  DID TO PREPARE YOURSELF.

        17  A.   YES.

        18           WELL, AS I ALREADY TESTIFIED, I READ THE

        19  DEPOSITION RECORD.

        20           I READ THE TRIAL RECORD, INCLUDING THE DIRECT

        21  TESTIMONY.

        22           I HAD A NUMBER OF MEETINGS TO DISCUSS THE CASE

        23  WITH THE STAFF AT CHARLES RIVER ASSOCIATES, AND SOME

        24  MEETINGS WITH PEOPLE AT THE JUSTICE DEPARTMENT AND SOME

        25  MEETINGS WITH BOTH.
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         1           SPENT A NONTRIVIAL AMOUNT OF TIME DRAFTING AND

         2  WRITING THE--WELL, THE TWO DECLARATIONS, LET'S PUT IT THAT

         3  WAY, AND, OF COURSE, THE DIRECT TESTIMONY.

         4           AS I SAID, I HAD A COUPLE OF PHONE CONVERSATIONS,

         5  ONE--TWO, IN PARTICULAR, WITH DR. FELTEN.

         6           THAT'S IT, I THINK.

         7  Q.   NOW, YOU TESTIFIED THAT ONE OF YOUR CONCLUSIONS WAS

         8  THAT MICROSOFT HAD MONOPOLY POWER OVER PERSONAL COMPUTER

         9  OPERATING SYSTEMS.

        10           MR. LACOVARA DID NOT ASK YOU, BUT I WANT TO, WHAT

        11  ARE THE PRIMARY BASES OF THAT OPINION?

        12  A.   WELL, I THINK THERE ARE A NUMBER OF BASES.  FIRST

        13  PLACE, LET ME DEFINE MONOPOLY POWER.  ROUGHLY PUT,

        14  MONOPOLY POWER IS THE POWER TO KEEP PRICES UP AND FOR A

        15  SIGNIFICANT--IN A SIGNIFICANT MANNER FOR SIGNIFICANT TIME,

        16  AND NOT HAVE YOUR BUSINESS BID AWAY BY COMPETITORS OR NEW

        17  ENTRANTS.

        18           THE FIRST THING, I THINK, TO LOOK AT--WELL, HARD

        19  TO TELL WHAT SHOULD BE FIRST.  ONE OF THE FIRST THINGS TO

        20  LOOK AT, ANYWAY, IS THE TESTIMONY OF SOME OF THE DIRECT

        21  CUSTOMERS, THE OEM'S.  THESE ARE THE PEOPLE WHO, WHEN

        22  ASKED IF MICROSOFT WERE TO RAISE ITS PRICE, WHERE WOULD

        23  THEY GO?  AND THE ANSWER WAS NO, NO, NO, THEY WOULD STAY

        24  WITH WINDOWS.  THERE ISN'T ANY OTHER CHOICE.  THAT'S WHAT

        25  THE MARKET DEMANDS.  ONE OF THEM IS, AS I ALREADY
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         1  TESTIFIED, WRITES A LETTER TO MICROSOFT THAT SAYS, "IF YOU

         2  WERE NOT BASICALLY"--IN SUBSTANCE--"IF YOU WERE NOT THE

         3  ONLY GAME IN TOWN, WE CERTAINLY WOULDN'T DEAL WITH YOU,"

         4  BUT THEY ARE THE ONLY GAME IN TOWN.

         5           THE SECOND IS ONE CAN LOOK AT SOME MARKET-SHARE

         6  STATISTICS.  THAT'S IN PLAINTIFFS' EXHIBIT 1, AND I MADE

         7  SOME COMPUTATIONS FROM PLAINTIFFS' EXHIBIT 1.  AND WHILE I

         8  DON'T BELIEVE THAT MARKET SHARE IS A DISPOSITIVE INDICATOR

         9  OF MARKET POWER, IT IS CERTAINLY A GOOD WAY, AND, INDEED,

        10  IT IS THE STANDARD WAY IN WHICH TO BEGIN.

        11           AND IF ONE LOOKS AT THAT, ONE SEES WHAT, LIKE,

        12  ANY SENSIBLE PERSON KNOWS, WHICH IS THAT MICROSOFT'S SHARE

        13  OF OPERATING SYSTEMS EITHER FOR PC'S, EITHER FOR

        14  INTEL-BASED PC'S OR FOR ALL PC'S IS VERY HIGH.  AND IT'S

        15  LIKELY TO REMAIN VERY HIGH.

        16           NOW, ONE OF THE REASONS THAT MARKET SHARE ISN'T A

        17  DISPOSITIVE INDEX OF MARKET POWER, ALTHOUGH IT CAN BE

        18  INDICATIVE, IS BECAUSE YOU HAVE TO WORRY ABOUT BARRIERS TO

        19  ENTRY.  IF THE SHARE IS SIMPLY HIGH BECAUSE THE PRODUCT IS

        20  BETTER OR SIMPLY HIGH BECAUSE THE PRICES ARE LOW, THEN I

        21  DON'T THINK THAT INDICATES MONOPOLY POWER, ALTHOUGH THERE

        22  ARE VARIOUS WAYS OF DESCRIBING THAT.  AND ONE OF THE

        23  QUESTIONS IS:  IS THERE ANY REASON TO SUPPOSE THAT IF

        24  MICROSOFT IS EARNING MONOPOLY PROFITS, CHARGING TOO HIGH

        25  PRICES OR WHATEVER, IS THERE ANY REASON TO SUPPOSE THAT
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         1  THERE ARE GOING TO BE COMPETITORS WHO COME IN AND BID AWAY

         2  THE BUSINESS?  WHAT KEEPS THEM FROM DOING THAT?  THAT'S

         3  THE SUBJECT OF BARRIERS TO ENTRY.  AND AS I TESTIFIED,

         4  THERE IS AN OBVIOUS--WELL, A SUBTLE BUT WELL KNOWN, LET'S

         5  PUT IT THAT WAY, BARRIER TO ENTRY, INTO COMPETING IN THE

         6  OPERATING SYSTEMS BUSINESS WITH MICROSOFT.  THAT'S WHAT'S

         7  BEEN REFERRED TO HERE AS THE APPLICATIONS BARRIERS TO

         8  ENTRY, AND I CAN REHEARSE AGAIN FOR YOU WHAT IT IS, BUT

         9  THERE ARE GOOD REASONS TO BELIEVE THAT IT'S THERE AND THAT

        10  MICROSOFT HAS THE BENEFIT OF IT.

        11           AND THE NOTION THAT OPERATING SYSTEMS SUCH AS

        12  LINUX OR BEE-OS (PHONETIC) OR OS/2 OR EVEN APPLE ARE

        13  REALLY GOING TO SUCCEED IN TAKING AWAY MUCH, IF ANY, OF

        14  THE BUSINESS FROM MICROSOFT WINDOWS, IS A JOKE.  OF COURSE

        15  IT'S NOT TRUE.

        16           THAT'S ONE SET OF THINGS.

        17           THE SECOND SET OF THINGS IS THAT I OBSERVE THAT I

        18  THINK THERE ARE REASONS TO BELIEVE THAT MICROSOFT CHARGES

        19  A PRICE WHICH INCLUDES MONOPOLY PROFITS.  I BELIEVE IT TO

        20  BE THE CASE THAT MICROSOFT CHARGES DIFFERENT PRICES TO

        21  DIFFERENT OEM'S, AND THAT THERE IS SUBSTANTIAL AMOUNT OF

        22  PRICE DISCRIMINATION, AND THAT IS AN INDICATOR OF SOME

        23  MARKET POWER.

        24           I HAVE LOOKED AT WHAT'S HAPPENED TO MICROSOFT'S

        25  OPERATING SYSTEM PRICE OVER TIME, AND IT ISN'T FALLING,
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         1  AND I DON'T BELIEVE IT'S FALLING EVEN ON A QUALITY

         2  CORRECTED BASIS.  AND FOR THAT MATTER, IT ISN'T EVEN

         3  CONSTANT.  IT'S RISING.

         4           AND MICROSOFT APPEARS TO HAVE SET ITS PRICE

         5  WITHOUT REGARD, NOT FOR COMPETITION.

         6           NOW, I DON'T MEAN--PERHAPS I SHOULD SAY THAT

         7  MICROSOFT HAS NO CONSTRAINTS ON IT.  THAT'S NOT TRUE.  I

         8  HAD DINNER GUESTS, SOMEONE I MET FOR THE FIRST TIME, LAST

         9  MONTH WHO WANTED TO SIT NEXT TO ME TO DISCUSS THE

        10  PROPOSITION THAT MICROSOFT CANNOT POSSIBLY HAVE MONOPOLY

        11  POWER BECAUSE IF IT CHARGED $5,000 A COPY FOR ITS

        12  OPERATING SYSTEM, IT WOULD LOSE A LOT OF SALES.  AND I

        13  TRIED HARD TO EXPLAIN TO HIM THAT THAT MIGHT BE TRUE OF

        14  ANY MONOPOLIST, BUT THAT DIDN'T MEAN THAT MICROSOFT DIDN'T

        15  HAVE MONOPOLY POWER, A CONSIDERABLE AMOUNT OF FREEDOM TO

        16  CHARGE PRICES AND EARN SUPERNORMAL PROFITS.  AND I THINK

        17  IT DOES.

        18  Q.   WITH RESPECT TO YOUR STATEMENT THAT MICROSOFT PRICES

        19  HAVE BEEN INCREASING, CAN YOU EXPLAIN WHAT THE ELEMENTS OF

        20  THOSE PRICE INCREASES HAVE BEEN.

        21  A.   WELL, A, THE PRICE OF WINDOWS 98--I'M NOW STARTING

        22  OFF SLOW, SO TO SPEAK--LOOKED AT JUST ON A NOMINAL BASIS,

        23  PRICE OF WINDOWS 98 IS HIGHER THAN THE PRICE OF WINDOWS 95

        24  WAS.

        25           NOW, THAT DOESN'T GET YOU VERY FAR BECAUSE IT IS
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         1  ARGUABLY THE CASE, AND I BELIEVE IT IS THE CASE, THAT

         2  WINDOWS 98 DOES MORE THINGS THAN WINDOWS 95, OR DOES THEM

         3  BETTER.

         4           HOWEVER, THE PRICE OF WINDOWS 95 IN THE THIRD

         5  QUARTER OF 1998 ROSE, AND IT ROSE TO BE ESSENTIALLY THE

         6  SAME AS THE PRICE FOR WINDOWS 98.  THIS IS THE PRICE TO

         7  OEM'S.  I THINK I HAVE SOME VIEWS AS TO THAT, BUT THAT'S

         8  NOT THE POINT.

         9           IF THIS WERE A COMPETITIVE MARKET, AND MICROSOFT

        10  DIDN'T HAVE SOME POWER OVER PRICE, THEN WHEN THE BETTER

        11  PRODUCT CAME OUT, YOU WOULD EXPECT TO SEE THE PRICE OF THE

        12  OLDER PRODUCT AT LEAST STAY THE SAME AND, QUITE POSSIBLY,

        13  GO DOWN, BUT IT DIDN'T.  IT WENT UP.

        14           NEXT, YOU CAN LOOK AT THE PRICE FOR WINDOWS, FOR

        15  THE OPERATING SYSTEM, RELATIVE TO THE PRICE FOR OTHER

        16  COMPONENTS OF THE PC.  AND THE PRICE OF OTHER COMPONENTS

        17  OF THE PC HAS BEEN COMING DOWN AND COMING DOWN QUITE

        18  RAPIDLY AT A TIME THAT THE PRICE FOR WINDOWS HAS BEEN

        19  GOING UP.

        20           AND THAT OUGHT TO AT LEAST MAKE ONE SUSPICIOUS OF

        21  THE CLAIM THAT ON A QUALITY CORRECTED BASIS, THE WINDOWS

        22  PRICE IS REALLY GOING DOWN A WHOLE LOT.  I DON'T THINK IT

        23  HAS.

        24           WELL, I THINK THAT'S ALL FOR THE MOMENT.

        25  Q.   WHEN YOU REFER TO THE PERCENTAGE OF THE PC COST THAT
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         1  IS ATTRIBUTED TO THE OPERATING SYSTEM, IS IT THE CASE THAT

         2  THE AVERAGE PRICE OF PERSONAL COMPUTERS HAS BEEN CHANGING?

         3  A.   OH, YES.  THE PRICE--AVERAGE PRICE OF PERSONAL

         4  COMPUTERS, A SENTENCE I DO NOT WISH TO REPEAT FOUR TIMES

         5  FAST, HAS BEEN COMING DOWN AND COMING DOWN QUITE RAPIDLY.

         6  Q.   NOW, THERE WAS SOME REFERENCE EARLIER TO AN ANALYSIS,

         7  PRICING ANALYSIS, DONE BY MR. KEMPIN.  PERHAPS IT WAS IN

         8  THE END OF 1997 OR SOMETIME IN 1997.

         9           HAS THE PRICE OF OPERATING SYSTEMS CHANGED SINCE

        10  1997?

        11  A.   IT HAS.  IT'S GONE UP.

        12  Q.   AND HAS THE PRICE OF PC'S CHANGED SINCE 1997?

        13  A.   IT HAS.  FROM ALL REPORTS, IN THIS CASE--I DO MEAN

        14  REPORTS--IT HAS GONE DOWN, AND IT HAS GONE DOWN QUITE A

        15  LOT.

        16  Q.   WHAT IS THE SIGNIFICANCE, IF ANY, OF YOUR FINDING

        17  THAT THERE HAS BEEN SIGNIFICANT PRICE DISCRIMINATION BY

        18  MICROSOFT IN SELLING WINDOWS?

        19  A.   WELL, I THINK THERE ARE TWO POINTS.  POINT NUMBER ONE

        20  IS THAT IF MICROSOFT IS EARNING--HOW SHOULD I PUT

        21  IT?--CHARGING REMUNERATIVE PRICE TO THE PEOPLE TO WHOM E

        22  IT'S CHARGING A LOW PRICE, THEN, PRESUMABLY, IT IS THE

        23  CASE THAT IT'S CHARGING A MORE THAN REMUNERATIVE PRICE TO

        24  THE PEOPLE TO WHOM IT IS CHARGING THE HIGH PRICE.  THAT

        25  REQUIRES A CERTAIN AMOUNT OF POWER.  MICROSOFT IS
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         1  OBVIOUSLY NOT PARTICULARLY WORRIED THAT THE PEOPLE TO WHOM

         2  IT CHARGES A HIGH PRICE ARE GOING TO GO OFF AND BUY OR

         3  LICENSE SOME OTHER OPERATING SYSTEM.

         4           SECONDLY, I THINK THE PRICE DISCRIMINATION IN

         5  PRICING TO THE OEM'S IS PART OF A SYSTEM IN WHICH

         6  MICROSOFT DOES TWO THINGS.  ONE, IT EXERCISES ITS MONOPOLY

         7  POWER IN WAYS OTHER THAN SIMPLY CHARGING A SINGLE HIGH

         8  PRICE FOR ITS OPERATING SYSTEM.  AND SECOND, IT REWARDS

         9  VARIOUS OF THE OEM'S, AS IT REWARDS OTHER PEOPLE AS WELL,

        10  FOR COOPERATION IN A SYSTEM WHICH TENDS TO REINFORCE BOTH

        11  MICROSOFT'S LATER REVENUES AND MICROSOFT'S--AND THE

        12  BARRIERS TO ENTRY INTO COMPETING WITH MICROSOFT AND ITS OS

        13  MONOPOLY.

        14  Q.   DOES THE FACT THAT THERE ARE OPERATING SYSTEMS LIKE

        15  LIE-NUX (PHONETIC) OR UNIX OR OS/2 MEAN THAT MICROSOFT

        16  DOES NOT HAVE MONOPOLY POWER?

        17  A.   NO.

        18           IN THE FIRST PLACE, IT'S PRONOUNCED LIN-UX

        19  (PHONETIC), YOU WILL BE HAPPY TO KNOW.  ONE OF THE REALLY

        20  INTERESTING FACTS WITH WHICH I HAVE COME AWAY FROM IN THIS

        21  PROCEEDING.

        22           IN ANY EVENT, IT IS PERFECTLY POSSIBLE AND WELL

        23  RECOGNIZED IN ECONOMICS THAT SOMEONE COULD HAVE ECONOMIC

        24  POWER WITHOUT LITERALLY BEING THE ONLY SELLER.  THERE

        25  COULD BE A FRINGE OF FIRMS.  SOMETIMES THAT'S A LARGE
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         1  NUMBER OF FIRMS WITH A SMALL SHARE.  SOMETIMES IT'S A

         2  SMALL NUMBER OF FIRMS WITH A SMALL SHARE.  HERE IT'S A

         3  SMALL NUMBER OF FIRMS WITH REALLY VERY SMALL SHARES.

         4           WHAT YOU HAVE TO ASK IS THE QUESTION OF

         5  WHETHER--IT'S THE QUESTION I ASKED BEFORE.  WHEN MICROSOFT

         6  CONSIDERS ITS PRICING, DOES IT REALLY THINK IT'S IN DANGER

         7  THAT IT'S GOING TO LOSE A LOT OF SALES TO LINUX?  IT'S A

         8  JOKE.

         9  Q.   NOW, YOU MENTIONED APPLICATIONS PROGRAMMING BARRIER

        10  TO ENTRY.

        11           DOES THE TERM "BARRIER TO ENTRY" HAVE A

        12  PARTICULAR DEFINITION IN THE AREA OF ECONOMICS?

        13  A.   YES.

        14  Q.   AND IS THE APPLICATIONS PROGRAMMING BARRIER TO ENTRY

        15  A BARRIER TO ENTRY IN THAT SENSE?

        16  A.   OH, IT CERTAINLY IS.  THE DEFINITION THAT I GAVE

        17  MR. LACOVARA LAST WEEK IS A DEFINITION THAT SAYS THAT THE

        18  TERM "BARRIERS TO ENTRY" HAS TO FIT THE PROPOSITION THAT

        19  WHERE THERE ARE NO BARRIERS TO ENTRY THERE CAN BE NO

        20  MONOPOLY POWER, AND WHERE THERE IS BARRIER TO ENTRY THERE

        21  CAN BE.  AND THEREFORE, BARRIER TO ENTRY IS SOMETHING

        22  WHICH HAS THE PROPERTY THAT IT PERMITS THE FIRM OR

        23  FIRMS--OR IN THIS CASE, THE FIRM INSIDE IT--TO EARN

        24  MONOPOLY PROFITS WITHOUT ATTRACTING ENTRY TO BID THOSE

        25  PROFITS AWAY.
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         1           THE APPLICATIONS BARRIER TO ENTRY IS SOMETHING

         2  WHICH PERMITS MICROSOFT TO EXERCISE MONOPOLY POWER AND

         3  EARN MONOPOLY PROFITS WITHOUT THE PROSPECT THAT IT'S GOING

         4  TO INDUCE OTHER OPERATING SYSTEM VENDORS TO COME IN AND

         5  BID THAT BUSINESS AWAY.

         6           I COULD DESCRIBE IT IN THE FOLLOWING WAY.

         7  MICROSOFT ENJOYS, FOR WHATEVER REASON, THE BENEFITS OF

         8  HAVING AN OPERATING SYSTEM WHICH IS VERY, VERY, VERY

         9  POPULAR AND FOR WHICH MANY, MANY, MANY APPLICATIONS ARE

        10  WRITTEN.

        11           BECAUSE OF THAT, TO COMPETE WITH MICROSOFT

        12  DIRECTLY, AS AN ENTRANT INTO THE OPERATING SYSTEM

        13  BUSINESS, YOU WOULD HAVE TO IMAGINE THAT SOME OPERATING

        14  SYSTEMS VENDOR--ONE OF THESE, FOR INSTANCE--COULD, AS IT

        15  WERE, DUPLICATE THAT STATUS, AND DUPLICATE IT FAST ENOUGH

        16  THAT IT WOULD AFFECT MICROSOFT'S DECISIONS IN A MEANINGFUL

        17  WAY.  THAT OBVIOUSLY ISN'T GOING TO HAPPEN.  THERE IS A

        18  BARRIER TO ENTRY.

        19  Q.   WOULD THE FACT, IF IT WERE A FACT, THAT MICROSOFT

        20  MIGHT SOMETIME IN THE FUTURE LOSE ITS POSITION TO ANOTHER

        21  FIRM BE SOMETHING THAT WOULD MEAN THAT MICROSOFT WOULD NOT

        22  HAVE MONOPOLY POWER TODAY?

        23  A.   NOT IF THE FUTURE IS WHAT I THINK IT IS.  THAT MAY BE

        24  A LITTLE--I DON'T KNOW IF THE WORD IS ELLIPTIC OR GNOMIC,

        25  BUT LET ME EXPLAIN IT, IF I CAN.
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         1           OF COURSE, IF THE WORD "FUTURE" MEANT TOMORROW,

         2  THEN IT WOULD MEAN, PRESUMABLY, THAT MICROSOFT DOESN'T

         3  HAVE MONOPOLY POWER TODAY.  BUT IT DOESN'T REFER TO

         4  TOMORROW.  THERE IS NO LIKELIHOOD THAT'S GOING TO HAPPEN

         5  INTO THE FORESEEABLE FUTURE.  THERE ARE POSSIBILITIES THAT

         6  WHAT ONE MIGHT CALL A "PARADIGM SHIFT," ENTRY BROUGHT ON

         7  BY INNOVATION, MIGHT ONE DAY CHANGE THE SITUATION AND

         8  REDUCE OR ELIMINATE MICROSOFT'S MONOPOLY POWER.

         9           MICROSOFT IS VERY CAREFUL TO LOOK AT THOSE

        10  THINGS, AND WHAT THIS CASE IS ABOUT, I THINK, IS ITS

        11  ATTEMPTS TO AVOID EXACTLY THAT.  BUT THERE IS NO PRESENT

        12  PROSPECT THAT THAT'S HAPPENING.

        13  Q.   WHAT IF YOU WERE TO CONCLUDE THAT MICROSOFT PRICED

        14  ITS OPERATING SYSTEM, IN PART, IN ORDER TO DETER ENTRY

        15  SOMETIME IN THE FUTURE?  WOULD THAT NECESSARILY MEAN THAT

        16  MICROSOFT DOES NOT HAVE MONOPOLY POWER TODAY?

        17  A.   IT WOULD NOT.  LET ME GIVE YOU AN EXAMPLE SOMEWHAT

        18  HYPOTHETICAL, BUT MADE OUT OF THE FACTS OF BUSINESS I KNOW

        19  A GOOD DEAL ABOUT.  AND BELIEVE IT OR NOT, THE BUSINESS I

        20  KNOW A GOOD DEAL ABOUT IS WATER IN THE MIDDLE EAST.

        21           IF I WERE A MONOPOLIST, LET US SAY, OF THE

        22  FRESH-WATER SOURCES OF ISRAEL--I HASTEN TO ADD, I HAVE NO

        23  AMBITION TO BECOME--I WOULD NEVERTHELESS BE LIMITED IN THE

        24  PRICE THAT I CHARGED BECAUSE IF I CHARGED A PRICE MORE

        25  THAN ABOUT A DOLLAR PER CUBIC METER TO CUSTOMERS ON THE

                                                           49

         1  MEDITERRANEAN COAST, PEOPLE WOULD FIND IT PROFITABLE TO

         2  BEGIN THE DESALINATION OF SEAWATER, AND THEN THERE WOULD

         3  BE A VERY, VERY LARGE SUPPLY FORTHCOMING AT THAT PRICE.

         4  THAT WOULDN'T, INCIDENTALLY, SAVE ISRAELI AGRICULTURE, BUT

         5  THAT'S A DIFFERENT POINT.

         6           NEVERTHELESS, BETWEEN BELOW THAT CEILING THAT THE

         7  ALTERNATIVE TECHNOLOGY PROVIDES, BELOW THE CEILING OF A

         8  DOLLAR PER CUBIC METER, I WOULD HAVE PLENTY OF FREEDOM TO

         9  CHARGE A PRICE HIGHER THAN MY COSTS AND MAKE A LOT OF

        10  MONEY.

        11  Q.   WOULD YOU EXPLAIN WHAT THE TERM "LIMIT PRICING" MEANS

        12  IN THE CONTEXT OF ECONOMIC ANALYSIS.

        13  A.   LIMIT PRICING IS RELATED TO WHAT WE HAVE JUST BEEN

        14  TALKING ABOUT.  IT'S THE SETTING OF A PRICE BY INCUMBENT

        15  FIRMS, OR IF WE ARE GOING TO TALK ABOUT MONOPOLISTS AND

        16  INCUMBENT FIRM, AT A LEVEL JUST LOW ENOUGH SO THAT

        17  ENTRANTS WILL NOT FIND IT PROFITABLE TO ENTER AT THAT

        18  LEVEL, WHILE STILL BEING SUFFICIENTLY HIGH TO ENABLE THE

        19  INCUMBENT FIRMS TO EARN SUPERNORMAL PROFITS.

        20  Q.   DOES THE FACT THAT A FIRM ENGAGES IN LIMIT PRICING

        21  MEAN THAT THAT FIRM DOES NOT HAVE MONOPOLY POWER?

        22  A.   NO.  IT'S AS I TOLD MY DINNER GUEST.  THE FACT

        23  MICROSOFT CAN'T CHARGE PROFITABLY $5,000 A COPY DOESN'T

        24  MEAN THAT MICROSOFT DOESN'T HAVE MONOPOLY POWER.  IT JUST

        25  MEANS THE MONOPOLY POWER ISN'T, SO TO SPEAK, TOTALLY
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         1  UNCONSTRAINED, AND NO MONOPOLIST POWER, IN REAL LIFE, EVER

         2  IS TOTALLY UNCONSTRAINED.

         3  Q.   NOW, YOU TESTIFIED ON CROSS-EXAMINATION THAT

         4  NON-MICROSOFT BROWSERS, PARTICULARLY NETSCAPE'S BROWSER

         5  AND JAVA, EITHER SEPARATELY OR IN COMBINATION, POSED A

         6  POTENTIAL SERIOUS THREAT TO MICROSOFT; CORRECT?

         7  A.   THAT'S WHAT MICROSOFT BELIEVED, AND WITH SOME REASON.

         8  Q.   ASSUMING THAT MICROSOFT WAS CORRECT IN THAT RESPECT,

         9  DOES THAT MEAN THAT MICROSOFT DOES NOT HAVE MONOPOLY

        10  POWER?

        11  A.   NO, IT CERTAINLY DOESN'T.  THIS IS WHAT I REFERRED TO

        12  BEFORE AS THE POSSIBILITY OF A PARADIGM SHIFT.  PROVIDED

        13  THAT--IF MICROSOFT HAD NOT TAKEN ANTICOMPETITIVE--FIRST,

        14  IF MICROSOFT DID TAKE ANTICOMPETITIVE ACTIONS TO PREVENT

        15  THIS THREAT FROM COMING ABOUT, IT STILL WOULD HAVE BEEN

        16  THE CASE THAT IT HAD MONOPOLY POWER FOR SOME TIME TO COME

        17  AND, POSSIBLY, FOR A VERY LONG TIME TO COME.  AND, IN

        18  FACT, IT MAY HAVE BEEN ABLE TO WIN ON THE MERITS, BUT IT

        19  COULDN'T BE SURE OF THAT, BUT MONOPOLY POWER IT WOULD HAVE

        20  HAD.  DID HAVE, SORRY.

        21  Q.   I CAN'T REMEMBER WHETHER THE EXACT TERM WAS USED IN

        22  YOUR CROSS-EXAMINATION OR NOT, BUT ARE YOU FAMILIAR WITH A

        23  TERM "MIDDLEWARE"?  YOU CERTAINLY TALKED ABOUT THAT

        24  CONCEPT.

        25  A.   I AM.
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         1  Q.   WOULD YOU JUST DESCRIBE BRIEFLY WHAT YOUR

         2  UNDERSTANDING OF MIDDLEWARE IS.

         3  A.   MY UNDERSTANDING OF MIDDLEWARE IS SOFTWARE THAT RUNS

         4  IN BETWEEN--ON TOP OF THE OPERATING SYSTEM BUT UNDER THE

         5  APPLICATION.  THE JAVA VIRTUAL MACHINE CAN BE DESCRIBED AS

         6  MIDDLEWARE, FOR INSTANCE.  SO COULD A BROWSER.

         7  Q.   IS MIDDLEWARE A SUBSTITUTE FOR THE OPERATING SYSTEM?

         8  A.   NOT NOW.  THE DANGER TO MICROSOFT WASN'T THAT EITHER

         9  THE BROWSER OR THE JAVA SYSTEM WAS A SUBSTITUTE FOR ITS

        10  OPERATING SYSTEM AS IT STANDS NOW.  THE DANGER TO

        11  MICROSOFT WAS THAT HAD THOSE BEEN PERMITTED TO GO ON

        12  UNCHECKED, THEY MIGHT HAVE DEVELOPED INTO A CHALLENGE TO

        13  THE OPERATING SYSTEM MONOPOLY.

        14  Q.   NOW, YOU TESTIFIED THAT YOU HAVE REACHED THE

        15  CONCLUSIONS ABOUT MONOPOLY POWER.  HAVE YOU ALSO REACHED

        16  CONCLUSIONS THAT MICROSOFT HAS ENGAGED IN ANTICOMPETITIVE

        17  AND EXCLUSIONARY CONDUCT TO PRESERVE THAT MONOPOLY POWER?

        18  A.   INDEED I HAVE.

        19  Q.   AND WOULD YOU DESCRIBE GENERALLY WHAT THE KEY PARTS

        20  OF MICROSOFT'S ACTION, FROM YOUR ANALYSIS, WERE.

        21  A.   WELL, LET ME FIRST SAY WHAT I MEAN BY ANTICOMPETITIVE

        22  CONDUCT, WHICH I THINK WON'T SHOCK ANYBODY.  IT'S CONDUCT

        23  WHICH HAS TWO PROPERTIES--I'M TALKING ABOUT CONDUCT BY A

        24  SINGLE FIRM NOW.  IT'S CONDUCT THAT HAS TWO PROPERTIES.

        25  FIRST OF ALL, IT IS NOT A LEGITIMATE PROFIT-MAXIMIZING
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         1  ACTION ON ITS OWN BOTTOM.  BY ON ITS OWN BOTTOM, I MEAN IT

         2  IS NOT PROFIT-MAXIMIZING IF YOU DON'T TAKE INTO ACCOUNT

         3  THE HAMPERING OR DESTRUCTION OF COMPETITION.

         4           AND SECONDLY, IT IS AN ACTION WHICH IS

         5  PROFIT-MAXIMIZING IF YOU DO TAKE THAT INTO ACCOUNT.

         6           ALL RIGHT.  NOW, MICROSOFT DID A NUMBER OF

         7  THINGS.  LET'S START WITH BROWSERS.  MICROSOFT BUNDLED ITS

         8  BROWSER.  IT OFFERED ITS BROWSER FOR FREE.  IT PAID PEOPLE

         9  QUITE A LOT OF MONEY OR ELSE OFFERED THEM COMPENSATION IN

        10  KIND, FOREGOING WHAT COULD HAVE BEEN A LOT OF MONEY, FOR

        11  PUSHING ITS BROWSER.

        12           IT DID THAT PRIMARILY, I BELIEVE, TO THWART THE

        13  THREAT FROM NETSCAPE AND--WELL, ALSO FROM JAVA, AS I WILL

        14  EXPLAIN IN A MINUTE, TO THWART THE THREAT FROM NETSCAPE

        15  AND PRESERVE ITS MONOPOLY POWER IN OPERATING SYSTEMS.

        16           IT DID NOT DO THAT, I AM QUITE SURE, TO GAIN

        17  REVENUES AS A RESULT OF SPENDING ALL THIS MONEY TO GIVE

        18  AWAY THE BROWSER.

        19           SECONDLY, MICROSOFT TOOK STEPS TO DESTROY THE

        20  PROMISE OF THE JAVA CROSS-PLATFORM SYSTEM.  ONE OF THE

        21  REASONS THAT IT WENT AFTER NETSCAPE WAS THAT NETSCAPE'S

        22  BROWSER WAS DISTRIBUTING OR PROMISED TO DISTRIBUTE JAVA

        23  VIRTUAL MACHINES AND WANTED TO BE ALLIED WITH JAVA.

        24           MICROSOFT DID A NUMBER OF THINGS HERE, WHICH I

        25  TESTIFIED TO ON CROSS-EXAMINATION.  THEY FAILED TO SUPPORT
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         1  PURE JAVA, AND THEY FAILED TO SUPPORT IT EVEN THOUGH ONE

         2  WOULD SUPPOSE THAT THAT WOULD MAKE PEOPLE MORE INTERESTED

         3  IN THEIR OWN JVM.

         4           THEY, AS PERHAPS I JUST INDICATED, BY PUSHING IE,

         5  THEY PUSHED SOMETHING THAT WAS INDICATING THEIR VERSION OF

         6  JAVA VIRTUAL MACHINES, BUT NOT OTHER PEOPLE'S VERSION OF

         7  JAVA VIRTUAL MACHINES, WHICH WOULD HAVE BEEN PURE JAVA.

         8  THEY CREATED A SYSTEM IN WHICH DEVELOPERS EITHER WILLINGLY

         9  OR UNKNOWINGLY COULD BE DRAWN INTO WRITING JAVA PROGRAMS

        10  THAT WOULD NOT RUN ON MICROSOFT'S JAVA VIRTUAL MACHINE.

        11           NONE OF THESE ACTIONS COULD BE PROFITABLE EXCEPT

        12  FOR THEIR EFFECT IN THWARTING THE PLATFORM THREAT.  IF

        13  MICROSOFT HAD NOT BEEN INTERESTED IN THAT, MICROSOFT,

        14  PRESUMABLY, WOULD HAVE BEEN QUITE INTERESTED IN HAVING--IN

        15  SUPPORTING, AS WELL AS WHATEVER IT DID, SUPPORTING THE

        16  RUNNING OF JAVA, PURE JAVA, PROGRAMS ON ITS JAVA VIRTUAL

        17  MACHINE.  IT DID NOT SIMPLY BUILD A BETTER MOUSETRAP FOR

        18  JAVA.

        19  Q.   I WANT TO STOP YOU THERE AND ASK YOU TO EXPAND ON

        20  THAT.  AND, INDEED, I WOULD LIKE YOU TO ADDRESS A QUESTION

        21  THAT THE COURT ASKED DR. GOSLING WHEN HE WAS HERE, WHICH,

        22  IN SUBSTANCE, WAS:  DID MICROSOFT DO ANYTHING OTHER THAN

        23  SIMPLY GO OUT AND TRY TO DO A BETTER JOB AT JAVA THAN SUN

        24  WAS DOING?

        25  A.   AND THE ANSWER IS YES, MICROSOFT DID.
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         1  Q.   AND CAN YOU EXPLAIN THAT.

         2  A.   YES.  LET'S BEGIN WITH THE JNI'S, THE JAVA NATIVE

         3  INTERFACES.  THESE WERE THE PIECES OF JAVA CODE WHICH, IN

         4  THE SUN PROTOCOL, PERMIT THE DEVELOPER TO CALL ON THE, AS

         5  IT WERE, THE NATIVE RESOURCES OF THE OPERATING SYSTEM

         6  PLATFORM.  MICROSOFT DIDN'T SUPPORT THE STANDARD JNI'S.

         7  INSTEAD, THEY SUPPORTED THEIR OWN RNI'S.

         8           NOW, I'M NOT TAKING THE VIEW THAT A PROGRAM

         9  WRITTEN WITH JNI'S WOULD NECESSARILY BE BETTER OR AS GOOD

        10  IN ITS OPERATION AS THE SAME PROGRAM WRITTEN WITH RNI'S.

        11  BUT, IF MICROSOFT HAD BEEN INTERESTED MERELY IN EXPANDING

        12  SALES OF WINDOWS AND SO FORTH, IT WOULD HAVE CREATED A

        13  JAVA VIRTUAL MACHINE WHICH WOULD HAVE SUPPORTED BOTH JNI'S

        14  AND RNI'S.  MICROSOFT DID A SIMILAR THING WITH WHAT'S

        15  CALLED AN RMI WHICH IT SIMPLY DIDN'T INCLUDE WITH ITS JVM.

        16           THEY ALSO--I WANT TO MAKE CLEAR THAT WHEN THEY

        17  DID THESE THINGS, WHAT HAPPENED WAS THE DEVELOPERS WHO

        18  WANTED TO RUN ON WHAT WAS GOING TO BE THE MOST WIDELY

        19  DISTRIBUTED VIRTUAL MACHINE FOR WINDOWS, OBVIOUSLY,

        20  BECAUSE IT WAS DISTRIBUTED WITH INTERNET EXPLORER AND IT

        21  WAS MICROSOFT'S OWN, IF THEY WANT THINGS TO RUN WELL, THEY

        22  HAVE TO BE VERY, VERY CAREFUL LEST THEY DISCOVER THAT THEY

        23  HAD SOMETHING ONLY THAT WOULD RUN WITH WINDOWS, OR

        24  RUN--SORRY--ON THE MICROSOFT JAVA VIRTUAL MACHINE.  AND

        25  MICROSOFT DIDN'T WARN THEM THAT IF THEY USED THE MICROSOFT
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         1  DEVELOPMENT TOOLS THEY WOULD END UP WITH A PROGRAM THAT

         2  COULD NOT EASILY BE PORTED.

         3           MICROSOFT'S DOCUMENTS REFER TO THIS AS "KILL JAVA

         4  WITH POLLUTED JAVA, SUBVERSION IS OUR BEST WEAPON" AND

         5  STUFF LIKE THAT.

         6           AND MICROSOFT, BY THE WAY, DID NOT STOP IN THEIR

         7  ANTI-JAVA CAMPAIGN OR THEIR ANTI-NETSCAPE ANTI-JAVA

         8  CAMPAIGN WITH THIS.  THEY WENT OUT OF THEIR WAY TO

         9  PERSUADE OTHER COMPANIES NOT TO BE ALLIED WITH JAVA AND

        10  NETSCAPE, OR NOT TO BE ALLIED WITH SUN AND NETSCAPE.

        11  THERE ARE DOCUMENTS--LET ME SEE.  THERE IS AN OFFER, GATES

        12  SPEAKS IN ONE PLACE OF A MILLION--NOW DOING A

        13  MILLION-DOLLAR FAVOR, THE POSSIBILITY OF DOING A

        14  MILLION-DOLLAR FAVOR FOR INTUIT IN THIS REGARD.  THERE IS

        15  A DOCUMENT ABOUT THE QUESTION AS TO WHOM--MR. TEVANIAN HAS

        16  TO MAKE UP HIS MIND WHO HE'S GOING TO BE ALLIED WITH.  WE

        17  WANT TO SPLIT HIM OFF--THIS IS APPLE--WE WANT TO SPLIT HIM

        18  OFF FROM SUN AND NETSCAPE.  I'M NOT GIVING THE EXACT

        19  QUOTES, OF COURSE, AND SO ON.

        20           THOSE ARE NOT ACTIONS WHICH ARE IN MICROSOFT'S

        21  INTEREST, EXCEPT TO THE EXTENT THEY HAMPER THE

        22  COMPETITION.

        23  Q.   LET ME ASK YOU TO LOOK AT A DOCUMENT THAT MAY OR MAY

        24  NOT BE ONE OF THE DOCUMENTS THAT YOU WERE JUST REFERRING

        25  TO, WHICH IS GOVERNMENT EXHIBIT 235, WHICH I BELIEVE IS
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         1  ALREADY IN EVIDENCE.

         2  A.   IT'S BEAUTIFUL, MR. BOIES, BUT I CAN'T READ IT AT

         3  THIS DISTANCE.

         4           (DOCUMENT HANDED TO THE WITNESS.)

         5  A.   TRY THE BOTTOM OF PAGE ONE.

         6  Q.   COULD YOU JUST DIRECT OUR ATTENTION TO WHAT YOU WERE

         7  REFERRING TO.

         8  A.   I COULD.  IT'S THE LAST PARAGRAPH ON THAT PAGE, LAST

         9  BULLET.

        10           MR. LACOVARA:  I DIDN'T MEAN TO OBJECT EARLIER,

        11  BUT WE DID COVER THIS VERY BULLET POINT WITH DR. FISHER ON

        12  THURSDAY.  ARE WE GOING TO REPEAT THE FACT FINDING?

        13           MR. BOIES:  I CERTAINLY DIDN'T COVER IT WITH HIM.

        14           MR. LACOVARA:  YES, YOU DID.  YOU COVERED THIS

        15  VERY ONE.

        16           MR. BOIES:  IF I DID, I WILL CERTAINLY BE VERY

        17  BRIEF HERE.

        18  BY MR. BOIES:

        19  Q.   IS THIS ONE OF THE PORTIONS THAT YOU WERE TALKING

        20  ABOUT?

        21  A.   YES, IT IS.

        22  Q.   AND WHAT IS THE SIGNIFICANCE OF THIS IN THE CONTEXT

        23  OF THE ISSUE WITH RESPECT TO JAVA?

        24  A.   IT SAYS, "INTEL TO STOP HELPING SUN CREATE JAVA

        25  MULTIMEDIA API'S, ESPECIALLY ONES THAT RUN WELL (I.E.
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         1  NATIVE IMPLEMENTATIONS) ON WINDOWS."

         2           IT'S GOT TO BE IN MICROSOFT'S PROCOMPETITIVE

         3  INTEREST TO HAVE THINGS RUN WELL ON WINDOWS.  IT'S THE

         4  IMPROVEMENT OF A COMPLEMENT.  THAT'S GOT TO INCREASE, IF

         5  ANYTHING, INCREASE THE DEMAND FOR WINDOWS.

         6           AND WHAT GOES ON HERE IS THAT MICROSOFT WISHES

         7  INTEL TO EXPLICITLY STOP THAT HAPPENING.

         8  Q.   IF MICROSOFT HAD SIMPLY BEEN INTERESTED IN DEVELOPING

         9  A BETTER JAVA TO RUN ON WINDOWS, WHAT WOULD MICROSOFT'S

        10  INCENTIVE HAVE BEEN IN TERMS OF DEVELOPING MULTIMEDIA

        11  API'S?

        12  A.   IT WOULD WANT TO DO THAT BECAUSE, PRESUMABLY, THE

        13  MORE PROGRAMS THAT RUN WELL ON WINDOWS, THE MORE DESIRABLE

        14  WINDOWS IS.

        15  Q.   NOW, YOU TESTIFIED THAT MICROSOFT ACTED IN WHAT YOU

        16  CHARACTERIZED AS NOW AN ANTICOMPETITIVE WAY TO THWART

        17  NETSCAPE'S BROWSER IN JAVA.

        18           IS IT NECESSARY, IN ORDER TO PRESERVE MICROSOFT'S

        19  MONOPOLY POWER, THAT NETSCAPE BE ELIMINATED ENTIRELY AS A

        20  COMPETITOR?

        21  A.   IT IS NOT.  WHAT'S REQUIRED HERE IS THAT--WHAT'S

        22  REQUIRED FOR THE PRESERVATION OF MICROSOFT'S WINDOWS

        23  MONOPOLY OR OPERATING SYSTEM MONOPOLY, IS THAT THE

        24  PARADIGM SHIFT NOT TAKE PLACE, THAT NETSCAPE NOT SUCCEED

        25  SUFFICIENTLY, THAT THE BROWSER CAN GROW INTO AN ALTERNATE
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         1  PLATFORM AND, PERHAPS, FOR THE OPERATING SYSTEM.  THAT'S

         2  NOT THE SAME AS WHETHER YOU HAVE TO ELIMINATE NETSCAPE

         3  ENTIRELY.  IT MEANS YOU HAVE TO BE SUFFICIENTLY BIG IN THE

         4  BROWSER BUSINESS SO THAT PEOPLE DON'T HAVE A SERIOUS

         5  INCENTIVE TO GO ON AND WRITE PROGRAMS FOR NETSCAPE BROWSER

         6  API'S RATHER THAN FOR YOU.

         7           I NOTE THAT THERE IS A MICROSOFT DOCUMENT OF

         8  FAIRLY RECENT DATE--I CAN'T REMEMBER HOW RECENT--THAT

         9  BASICALLY SAYS, ALTHOUGH IT SAYS THAT MICROSOFT'S

        10  SHARE--IS I DON'T REMEMBER EXACTLY--SHARE OF BROWSERS ON

        11  THE ORDER OF 50 PERCENT, "WE HAVE WON THE BROWSER WAR."

        12  THIS IS NOT A CASE ABOUT THE DESTRUCTION OF NETSCAPE.

        13  THIS ISN'T A SUIT BEING BROUGHT BY NETSCAPE.  THIS IS A

        14  CASE ABOUT THE DESTRUCTION OF COMPETITION.

        15           AND IN THIS CASE, WE ARE TALKING ABOUT A

        16  SITUATION IN WHICH THAT DESTRUCTION OF COMPETITION TAKES

        17  THE FORM OF PREVENTING A THREAT TO MICROSOFT'S OPERATING

        18  SYSTEM MONOPOLY, AND THE ANSWER TO YOUR QUESTION IS AS I

        19  INDICATED:  THAT DOES NOT REQUIRE THE COMPLETE DESTRUCTION

        20  OF NETSCAPE.

        21  Q.   WHAT ABOUT THE FACT THAT AOL AND NETSCAPE ARE

        22  PLANNING TO, AND PRESUMABLY WILL, MERGE?  DOES THAT SAY

        23  ANYTHING ABOUT NETSCAPE'S ABILITY TO PROVIDE PLATFORM

        24  COMPETITION TO MICROSOFT?

        25  A.   NO, I DON'T THINK IT DOES.
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         1           AS I TOLD MR. LACOVARA, PLATFORM COMPETITION--TO

         2  THINK THAT--LET ME START THIS WAY:  TO THINK THAT THAT

         3  MEANS THAT NETSCAPE WILL, IN FACT, PROVIDE PLATFORM

         4  COMPETITION FOR MICROSOFT, REQUIRES YOU TO BELIEVE A

         5  NUMBER OF THINGS, AND THEY'RE ALL NOT TRUE.

         6           FIRST PLACE, IT REQUIRES YOU TO BELIEVE THAT

         7  WHAT'S HAPPENED IN THE LAST COUPLE OF YEARS DOESN'T SET

         8  THE STAGE FOR WHAT'S GOING TO HAPPEN LATER.  THAT IS,

         9  MICROSOFT--IE IS NOW OUT THERE.  IT'S OUT IN A BIG WAY.

        10  IT'S OUT THERE ENOUGH SO THAT MICROSOFT BELIEVES IT'S WON,

        11  AND YOU HAVE TO ASK NOW COULD THAT BE REVERSED.  I THINK

        12  THE ANSWER IS, QUITE POSSIBLY NOT.

        13           SECOND PLACE, YOU HAVE TO BELIEVE THAT AOL IS NOW

        14  GOING TO BEGIN PUSHING NETSCAPE'S BROWSER AND BY DOING IT

        15  IT CAN CHANGE--IT CAN REVERSE THIS TREND.

        16           WELL, AS I ALSO TOLD MR. LACOVARA, EVEN

        17  MICROSOFT'S OWN BROWSER MARKET MODEL SUGGESTS THAT EVEN IF

        18  AOL WERE TO DECIDE TO DO THAT, IT WOULD NOT, IN FACT,

        19  AFFECT NETSCAPE'S SHARE BY MORE THAN ONE OR TWO PERCENTAGE

        20  POINTS.

        21           THE THIRD PLACE IS WHAT I SAID WHEN MR. LACOVARA

        22  FIRST ASKED ME THIS QUESTION, YOU HAVE TO STEP BACK AND

        23  ASK, "WAIT A MINUTE, WHAT ARE THE INCENTIVES FOR AOL TO

        24  TRY TO DO THAT?"  AND YOU HAVE TO ASK IF IT WAS WORTH A

        25  CERTAIN AMOUNT OF MONEY TO NETSCAPE TO INDUCE AOL TO PUSH
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         1  ITS BROWSER, WHY IS IT WORTH MUCH MORE OR ANY MORE TO THE

         2  COMBINED COMPANY TO DO THAT?  I CAN'T THINK OF ANY VERY

         3  GOOD REASON.

         4           AND THEREFORE, IF MICROSOFT COULD, IN EITHER

         5  MONEY OR OTHER INDUCEMENTS, OUTBID NETSCAPE, IT CAN MAKE

         6  IT, AND WILL MAKE IT, TO THE COMBINED COMPANIES' ADVANTAGE

         7  NOT TO COMBINE THE BROWSER, NOT TO PUSH THE BROWSER.  AND,

         8  IN FACT, AOL'S OWN STATEMENTS SAY THEY'RE NOT GOING TO DO

         9  THAT.  THEY SAY, IN FACT, YOU WOULD HAVE TO BE CRAZY TO

        10  COMPETE WITH MICROSOFT IN OPERATING SYSTEMS.

        11  Q.   DOES THE FACT THAT AMERICA ONLINE IS WILLING TO PAY

        12  APPROXIMATELY FOUR BILLION DOLLARS FOR NETSCAPE MEAN THAT

        13  NETSCAPE HAS A STRONG BROWSER BUSINESS?

        14  A.   NO.  IT MEANS THAT NETSCAPE HAS SOMETHING WHICH IS OF

        15  VALUE TO--IN MY TERMS A LOT OF VALUE--TO AMERICA ONLINE,

        16  BUT THE CLIENT BROWSER BUSINESS DOESN'T HAVE TO BE THAT

        17  BUSINESS.

        18  Q.   HAVE YOU EXAMINED NETSCAPE'S BUSINESS ENOUGH TO KNOW

        19  WHAT THAT VALUE IS?

        20  A.   I DO NOT.  I DO NOT KNOW.  NETSCAPE IS A TALENTED

        21  SOFTWARE COMPANY.  I HAD NOT EXAMINED IT WITH THAT KIND OF

        22  CARE.  I HAVE EXAMINED THE STATEMENT SUFFICIENTLY TO KNOW

        23  IT'S NOT THE PUSHING OF THE BROWSER.

        24  Q.   WITH RESPECT TO NETSCAPE, YOU TALKED ON

        25  CROSS-EXAMINATION ABOUT INCREMENTAL MARKET SHARES OR
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         1  INCREMENTAL SHARES.

         2  A.   YES.

         3  Q.   AND YOU DESCRIBED THE DIFFERENCE BETWEEN FLOW SHARES

         4  AND STOCK SHARES.

         5           IN TERMS OF LOOKING AT THE CURRENT STATUS OF

         6  BROWSER COMPETITION, WHICH SHARE MEASUREMENT IS MOST

         7  RELEVANT?

         8  A.   OH, I THINK IF YOU'RE REASONABLY CAREFUL HOW YOU

         9  MEASURE IT, WHICH IS A DIFFERENT POINT, INCREMENTAL SHARES

        10  ARE REALLY WHAT'S IMPORTANT.  INCREMENTAL SHARES TELL YOU

        11  WHAT'S HAPPENING NOW IN THE BROWSER MARKET.  AND

        12  INCREMENTAL SHARES TELL YOU WHAT'S GOING TO HAPPEN TO THE

        13  INSTALLED BASE INTO THE FUTURE.

        14  Q.   DOES THE PERCEPTION OF THE MARKET PLACE AS TO WHAT

        15  BROWSER IS OR IS NOT WINNING SOMETHING THAT CAN ACTUALLY

        16  AFFECT WHAT HAPPENS IN TERMS OF BROWSER CHOICE?

        17  A.   YES.

        18  Q.   WHY IS THAT?

        19  A.   WELL, BROWSERS ALSO HAVE SOMETHING OF A NETWORK

        20  EFFECT.  PEOPLE LIKE TO HAVE BROWSERS THAT THEIR FRIENDS

        21  HAVE.  SOFTWARE DEVELOPERS, WHEN THEY WRITE FOR BROWSERS,

        22  WILL WANT TO WRITE FOR THE POPULAR BROWSER.

        23           IF YOU THOUGHT THAT--LET ME GIVE YOU AN EXAMPLE

        24  IN THIS MATTER, NOT TAKEN FROM BROWSERS.  BETA WAS ONCE

        25  THE TECHNOLOGY--ONE OF THE TWO TECHNOLOGIES USED FOR
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         1  VCR'S, VIDEO RECORDING.  THE OTHER IS VHS.  AT ONE TIME

         2  BETA WAS THE--BETA WAS THE FIRST OUT THERE.  NOW NOBODY

         3  PRODUCES MOVIES IN BETA FORMAT.  AND ALTHOUGH I DON'T

         4  KNOW, IT WOULD BE MY VIEW THAT THE FACT THAT PEOPLE WERE

         5  PREDICTING THAT BETA WAS GOING TO LOSE WOULD, IN FACT, BE

         6  A DISINCENTIVE TO PRODUCERS OF VIDEOTAPES TO PRODUCE BETA

         7  TAPES.  YOU DON'T WANT TO PRODUCE THINGS THAT PEOPLE DON'T

         8  WANT AND, THEREFORE, CAN'T USE AND, THEREFORE, WON'T BUY.

         9  Q.   NOW, IN ASSESSING MARKET SHARE, YOU LOOKED AT THE

        10  ADKNOWLEDGE DATA, AND MR. LACOVARA EXAMINED YOU FOR SOME

        11  TIME ABOUT THAT DATA.

        12  A.   THE SHARE OF BROWSERS, YES.

        13  Q.   YES.

        14           CAN YOU EXPLAIN WHY, IF AT ALL, YOU BELIEVE THAT

        15  THE ADKNOWLEDGE BROWSER-SHARE DATA IS RELIABLE.

        16  A.   WELL, THIS MAY SOUND CIRCULAR.  I BELIEVE IT IS

        17  RELIABLE FOR THE PURPOSES FOR WHICH I USED IT TO RELY ON.

        18  Q.   WHY?

        19  A.   WELL, I'M GOING TO TELL YOU.

        20  Q.   OKAY.

        21  A.   I DON'T BELIEVE IT'S RELIABLE FOR ALL PURPOSES.  FOR

        22  EXAMPLE, IF YOU WANTED TO KNOW THE TOTAL NUMBER OF

        23  BROWSERS OUT THERE, IT WON'T TELL YOU.  IF YOU WANTED TO

        24  KNOW THE TOTAL NUMBER OF BROWSER HITS, IT WON'T TELL YOU.

        25  IF YOU WANT TO BE ABLE TO DIVIDE THE NUMBER OF BROWSER
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         1  HITS BETWEEN ISP'S, IT WILL TELL YOU SOME INFORMATION, BUT

         2  THE INFORMATION ISN'T ALWAYS VERY RELIABLE.

         3           BUT, IF YOU WANT TO USE IT TO KNOW SOME THINGS

         4  ABOUT THE SHARE OF NETSCAPE--SHARE OF NAVIGATOR AND THE

         5  SHARE OF IE, AND YOU'RE CAREFUL ENOUGH ABOUT HOW YOU DO

         6  USE IT, THEN I THINK IT IS RELIABLE.

         7           LET ME GIVE YOU A COUPLE OF EXAMPLES, AND THERE

         8  ARE MORE.  AND I DO KNOW A GOOD DEAL ABOUT THE ADKNOWLEDGE

         9  DATA.

        10           A, MR. LACOVARA ASKED ME WHETHER IT MATTERED TO

        11  ME THAT ADKNOWLEDGE DOES NOT SURVEY CERTAIN SITES.  IN

        12  PARTICULAR, WE ARE TALKING ABOUT SITES THAT DON'T HAVE

        13  COMMERCIALS, DON'T HAVE ADS.  OF COURSE, EVEN AMONG THE

        14  SITES THAT DO HAVE ADS, NETSCAPE--SORRY--ADKNOWLEDGE DOES

        15  NOT SURVEY ALL THE SITES.

        16           SO, IF YOU WANTED TO KNOW SOMETHING ABOUT HOW

        17  MANY HITS WERE BEING MADE ON SITES, YOU COULDN'T FIND OUT

        18  FROM THE ADKNOWLEDGE DATA ON ALL SIDES TOGETHER.  AND EVEN

        19  IF YOU WANTED TO KNOW WHAT SHARE OF THE SITES YOU'RE

        20  COVERING, OR WHAT SHARE OF THE HITS YOU'RE COVERING, YOU

        21  CAN'T KNOW THAT EITHER.

        22           BUT WHAT WE ARE INTERESTED IN OR I WAS INTERESTED

        23  IN WAS VARIOUS CALCULATIONS ABOUT THE SHARE OF IE IN HITS

        24  AND THE SHARE OF NETSCAPE IN HITS.  AND IN ORDER FOR THOSE

        25  DATA TO BE UNRELIABLE FOR THAT, YOU WOULD HAVE TO BELIEVE
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         1  THAT THERE IS SOMETHING QUITE SYSTEMATIC ABOUT THE

         2  BEHAVIOR OF NAVIGATOR USERS VERSUS THE BEHAVIOR OF IE

         3  USERS, THAT, FOR INSTANCE, NAVIGATOR USERS TEND TO VISIT

         4  IN DISPROPORTIONATELY LARGE NUMBERS THE KINDS OF SITES

         5  THAT ADKNOWLEDGE DOES NOT SURVEY, WHEREAS IE USERS TEND TO

         6  VISIT IN DISPROPORTIONATELY LARGE NUMBERS THE KINDS OF

         7  SITES WHICH THEY DO SURVEY.  THERE IS NO REASON TO BELIEVE

         8  THAT THAT IS TRUE.

         9           THERE ARE OTHER ISSUES IN THE DATA.  I WOULD FIND

        10  THIS EASIER IF WE COULD LOOK AT SOME OF THE CHARTS MADE

        11  WITH THE ADKNOWLEDGE DATA.

        12  Q.   CERTAINLY.

        13  A.   THE THREE-LINE GRAPH IS THE FIRST ONE.  I CAN'T

        14  REMEMBER THE NUMBER, BUT I COULD PROBABLY FIND IT.

        15  Q.   LET ME ASK YOU TO LOOK AT GOVERNMENT EXHIBIT 3 AND

        16  SEE IF THAT IS A DOCUMENT YOU HAVE IN MIND.

        17  A.   YES, THAT'S THE ONE.

        18           THIS CHART HAS THREE LINES ON IT, WHICH IS WHY I

        19  REFER TO IT AS THE THREE-LINE GRAPH, AND WHAT IT DOES IS

        20  TO DEPICT FROM THE BEGINNING OF '97 THROUGH, ROUGHLY, THE

        21  THIRD QUARTER OF '98 THE SHARE OF IE DIVIDED IN CERTAIN

        22  WAYS.  THE TOP LINE DEPICTS ADKNOWLEDGE AND COMPUSERVE.

        23  THE MIDDLE LINE DEPICTS ALL ADKNOWLEDGE RECORDS.  THE

        24  BOTTOM LINE DEPICTS THE SHARE AMONG ISP'S CHARACTERIZED BY

        25  MICROSOFT AS IE PARITY; THAT IS, WITHOUT CONTRACTUAL
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         1  RELATION WITH EITHER MICROSOFT OR NETSCAPE.

         2           NOW, HERE ARE SOME PROBLEMS IN THE ADKNOWLEDGE

         3  DATA AS THEY PERTAIN OR DON'T PERTAIN TO THIS CHART.  ONE,

         4  AOL IS KNOWN TO BE UNDERREPRESENTED IN THE ADKNOWLEDGE

         5  DATA BECAUSE OF THE PHENOMENON KNOWN AS CACHING, SO THAT

         6  NOT ALL USES--IN FACT, A GOOD MANY OF THE USES--OF

         7  BROWSERS BY AOL CUSTOMERS ARE NOT REPORTED BY ADKNOWLEDGE.

         8           THAT MEANS THAT THERE IS AN EFFECT ON ANY LINE

         9  THAT TRIES TO COMBINE AOL WITH ANYTHING ELSE.  IN THIS

        10  DIAGRAM, THAT IS MAINLY TRUE OF THE MIDDLE LINE, THE RED

        11  LINE, THE LINE THAT IS ALL ISP'S.  AOL IS UNDERREPRESENTED

        12  IN THAT LINE.  AND THEREFORE, PARTICULARLY IN THE LATER

        13  MONTHS, IE'S SHARE IS UNDERSTATED ON THE RED LINE, AND

        14  UNDERSTATED BY, YOU KNOW, WHAT IS UNDOUBTEDLY A NOTICEABLE

        15  AMOUNT.

        16           THE TOP LINE ALSO COMBINES AOL WITH COMPUSERVE.

        17  THERE IS A VERSION OF THIS THAT DOESN'T DO IT, AND THE

        18  VIEW OF AOL THAT YOU GET IS APPROXIMATELY THE SAME.

        19           BUT FOR PURPOSES OF ASKING WHAT HAPPENED WITHIN

        20  AOL AND COMPARING IT WITH WHAT HAPPENED FOR ISP PARITIES,

        21  THAT PROBLEM DOESN'T ARISE.  THE BOTTOM LINE, THE ISP

        22  PARITY LINE, IS FREE.  IT DOESN'T HAVE AOL IN IT.  WHAT

        23  HAPPENED TO THE SHARE OF IE IN THAT LINE IS INDEPENDENT OF

        24  THE EXTENT TO WHICH AOL CACHED OR DIDN'T CACHE.  THE

        25  MIDDLE LINE IS DEPENDENT ON IT, BUT THE MIDDLE LINE IS
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         1  THEN CONSERVATIVE IN TERMS OF WHAT IT SHOWS ABOUT IE.

         2           HERE IS ANOTHER--I HAVE A WHOLE LIST OF THINGS

         3  WITH THE ADKNOWLEDGE DATA.  SHALL I GO ON?

         4  Q.   DO THEY GO TO WHY YOU THINK IT'S RELIABLE?

         5  A.   YES.

         6  Q.   OKAY.

         7  A.   OH, YES, THEY'RE ALL ANSWERS TO THE SAME QUESTION.

         8           A SECOND USE OF THE ADKNOWLEDGE DATA IS TO

         9  CALCULATE THE SO-CALLED INCREMENTAL SHARE THAT YOU TALKED

        10  ABOUT A FEW MINUTES AGO OF IE OVER THIS PERIOD.  THAT IS

        11  DONE IN A WAY THAT CAN ONLY BE DESCRIBED AS APPROXIMATE,

        12  BUT THAT HAS NOTHING TO DO WITH THE ADKNOWLEDGE DATA.

        13  NAMELY, BY LOOKING AT HOW MANY--WHAT THE CHANGES IN HITS

        14  BETWEEN THE BEGINNING AND END OF THE PERIOD FOR IE, AND

        15  WHAT THE TOTAL CHANGE IN HITS BETWEEN THE BEGINNING AND

        16  END OF THE PERIOD IS FOR EVERYBODY, AND TAKING THE RATIO.

        17           NOW, THAT HAPPENS TO BE A METHOD THAT A MICROSOFT

        18  DOCUMENT ALSO USES, ALTHOUGH THEY DON'T USE THE

        19  ADKNOWLEDGE DATA, AND IT'S WITH SOME INTEREST THEY COME

        20  OUT WITH PRECISELY THE SAME RESULT AS MY CALCULATION.

        21  Q.   WHAT IS THAT RESULT?

        22  A.   THAT OVER THIS PERIOD, MICROSOFT'S INCREMENTAL SHARE

        23  WAS 57 PERCENT.  AND THERE IS A DOCUMENT THAT SHOWS THE

        24  RESULTS OF THOSE COMPUTATIONS AND COMPARES THEM.

        25           IN ADDITION, TURNING TO THE POSSIBLE DEFECTS IN
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         1  THE ADKNOWLEDGE DATA, THERE ARE DEFECTS IN THEM WHICH

         2  SUGGEST THAT THAT CALCULATION IS CONSERVATIVE.

         3  Q.   AND BY "CONSERVATIVE," YOU MEAN WHAT, SIR?

         4  A.   THAT IT UNDERESTIMATES IE'S SHARE.  AND AS LATE IN

         5  THE DAY--I'M NOT SUGGESTING WE RECESS, BUT I WANT TO POINT

         6  OUT I'M ABOUT TO SAY SOMETHING THAT AT LEAST INVOLVES SOME

         7  ARITHMETIC.  I DON'T KNOW WHETHER WE ARE ALL UP TO THIS.

         8  I DON'T KNOW WHETHER I'M UP TO IT, BUT I WOULD BE HAPPY TO

         9  DO IT.

        10           THE COURT:  HOW MUCH LONGER DO YOU ANTICIPATE

        11  YOUR REDIRECT IS GOING TO BE?

        12           MR. BOIES:  YOUR HONOR, MR. WARDEN AND I

        13  DISCUSSED THIS PREVIOUSLY, THAT I WOULD PROBABLY FINISH BY

        14  ABOUT THE MIDDLE OF THE MORNING TOMORROW, MAYBE 15 MINUTES

        15  AFTER THE MORNING BREAK.  AND THE THOUGHT IS THAT WE WOULD

        16  PROBABLY REST AROUND THE LUNCHEON RECESS AND THEN START

        17  WITH DR. SCHMALENSEE IN THE AFTERNOON.

        18           THE WITNESS:  THE "WE" RESTING INCLUDES ME, I

        19  ASSUME?

        20           MR. BOIES:  IT DOES.

        21           THE COURT:  YOU ANTICIPATE ON TAKING THE REST OF

        22  THE AFTERNOON?

        23           MR. BOIES:  YES.

        24           THE COURT:  WHY DON'T WE TAKE A TEN-MINUTE RECESS

        25  NOW.
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         1           MR. BOIES:  THANK YOU, YOUR HONOR.

         2           (BRIEF RECESS.)

         3           THE COURT:  COUNSEL, FOR PLANNING PURPOSES, SINCE

         4  I NOW HAVE A ROUGH IDEA WHAT YOUR TIME PROJECTIONS ARE, I

         5  HAVE A STATUS CONFERENCE IN A NARCOTICS CONSPIRACY CASE

         6  TOMORROW MORNING AT 10:00, AND SO WE WILL NOT BE STARTING

         7  UNTIL 11:00 IN THIS CASE.  THAT SUGGESTS TO ME THAT WE

         8  PROBABLY OUGHT TO EXPECT TO DEVOTE THE REMAINDER OF

         9  TOMORROW TO CONCLUDING DR. FISHER'S TESTIMONY AND BRINGING

        10  THE GOVERNMENT'S CASE TO A CLOSE.

        11           MR. BOIES:  YES, YOUR HONOR.

        12           THE COURT:  AND WE WILL START DR. SCHMALENSEE,

        13  THEN, ON WEDNESDAY MORNING.

        14           MR. BOIES:  YES, YOUR HONOR.  THANK YOU, YOUR

        15  HONOR.

        16  BY MR. BOIES:

        17  Q.   PROFESSOR FISHER, BEFORE THE BREAK, YOU SAID THAT

        18  YOUR ANSWER INVOLVED SOME ARITHMETIC, AND I'M SURE WE ARE

        19  ALL WAITING BREATHLESSLY.

        20  A.   I'M SURE YOU ARE.

        21           THE WITNESS:  YOUR HONOR, MAY I USE THE EASEL?

        22           THE COURT:  OF COURSE.

        23  BY MR. BOIES:

        24  Q.   AND WOULD YOU IDENTIFY WHAT THE PROPOSITION IS THAT

        25  YOU'RE GOING TO BE SPEAKING TO.
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         1           THE COURT:  MR. LACOVARA, YOU CAN TAKE STATION

         2  WHEREVER IT'S CONVENIENT FOR YOU.

         3           THE WITNESS:  WE WERE ON THE PROPOSITION--WE WERE

         4  ON THE QUESTION OF WHETHER OR NOT PROBLEMS IN THE

         5  ADKNOWLEDGE DATA DID OR DID NOT AFFECT THE CONCLUSIONS

         6  THAT I HAVE DRAWN FROM IT, AND I FORGET EXACTLY HOW FAR I

         7  GOT WITH THIS ANSWER BEFORE THE BREAK, SO LET ME START

         8  WITH BACKUP, PERHAPS, JUST A LITTLE BIT.

         9           ONE OF THE CONCLUSIONS HAD TO DO WITH MICROSOFT'S

        10  INCREMENTAL SHARE WHICH IS CALCULATED FROM THE ADKNOWLEDGE

        11  DATA AS IT IS FROM THE MICROSOFT DOCUMENT AT 57 PERCENT.

        12           AND THERE IS ONE PROBLEM WITH THE ADKNOWLEDGE

        13  DATA WHICH SUGGESTS THAT THAT PROBLEM HAS THE PROPERTY

        14  THAT IT'S EASY TO SEE THAT IF IT WERE CORRECTED, IT WOULD

        15  RAISE THE ESTIMATE OF IE'S SHARE.

        16           THE COURT:  HOLD A MINUTE.  ARE YOU UNABLE TO

        17  HEAR OUT THERE?  YOU CAN HEAR, OKAY.

        18           GO AHEAD.

        19           THE WITNESS:  THAT PROBLEM HAS DO WITH THE FACT

        20  THAT OVER THE PERIOD FOR WHICH WE HAVE ADKNOWLEDGE DATA,

        21  ADKNOWLEDGE GREW AND IT BEGAN TO SURVEY MORE SITES, SO

        22  THAT BY THE END OF THE PERIOD IT WAS SURVEYING I DON'T

        23  REMEMBER HOW MANY MORE SITES, BUT A SIGNIFICANTLY HIGHER

        24  NUMBER OF SITES THAN IT WAS AT THE BEGINNING.  AND NOW THE

        25  QUESTION WAS WHAT WOULD THAT DO--THAT SHOULDN'T HAVE
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         1  ANYTHING TO DO WITH THE ESTIMATE OF IE'S SHARE OF THE HITS

         2  IN ANY ONE PARTICULAR TIME PERIOD UNLESS ONE THOUGHT THAT

         3  THERE WAS SOMETHING SYSTEMATIC ABOUT THE NEW SITES THAT

         4  MADE THEM DIFFERENT IN TERMS OF IE AND NETSCAPE FROM THE

         5  OLD SITES, BUT IT MIGHT SAY SOMETHING ABOUT IE'S

         6  INCREMENTAL SHARE BECAUSE THE TOTAL NUMBER--THE INCREASE

         7  IN THE NUMBER OF HITS RECORDED BY ADKNOWLEDGE REFLECTS, IN

         8  PART, NOT THINGS THAT ARE, IN SOME SENSE, REALLY NEW HITS,

         9  OR CERTAINLY NOT NEW BROWSERS, BUT IN SOME PART, ANYWAY,

        10  IT REFLECTS HITS BY BROWSERS THAT WERE ALREADY IN USE AT

        11  THE BEGINNING OF THE PERIOD THAT WERE HITTING ON SITES AT

        12  THE BEGINNING OF THE PERIOD BUT WERE NOT RECORDED BY

        13  ADKNOWLEDGE AT THE BEGINNING OF THE PERIOD.  OKAY.

        14           NOW, FOR THE ARITHMETIC, THEY GAVE ME THREE

        15  COLORS HERE.  I HAVE TO DECIDE WHAT THE APPROPRIATE COLOR

        16  IS FOR THIS.

        17           FIRST IS A PURELY ARITHMETICAL EXAMPLE, AND IT'S

        18  A HYPOTHETICAL EXAMPLE.  SUPPOSE THAT ON THE SITES THAT

        19  WERE SURVEYED BY NETSCAPE--SURVEYED BY

        20  ADKNOWLEDGE--SORRY--BOTH AT THE BEGINNING AND THE END OF

        21  THE PERIOD, SUPPOSE THAT THE HITS ON IE AT THE BEGINNING

        22  OF THE PERIOD--THAT'S WHAT THE ZERO REPRESENTS--WERE EQUAL

        23  TO 40.

        24           AND SUPPOSE THAT THE HITS BY IE ON THOSE SAME

        25  SITES AT THE END OF THE PERIOD WERE 100.
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         1           SUPPOSE AT THE SAME TIME THAT THE TOTAL NUMBER OF

         2  HITS ON THOSE SITES AT THE BEGINNING OF THE PERIOD WAS A

         3  HUNDRED AND THE TOTAL NUMBER OF SITES AT THE END OF THE

         4  PERIOD WAS 200.

         5           IN THAT CASE, THE TRUE INCREMENTAL SHARE--THAT

         6  IS, TRUE IN THE SENSE THAT IT ISN'T AFFECTED AT ALL BY

         7  THIS PROBLEM IN THE ADKNOWLEDGE DATA THAT THERE ARE

         8  ADDITIONAL SITES, THESE WOULD BE--THIS IS WHAT YOU WOULD

         9  GET IF ADKNOWLEDGE JUST SURVEYED THE SAME SITES AT THE

        10  BEGINNING AND AT END OF THE PERIOD.

        11           IN THAT CASE, WHAT YOU WOULD GET WOULD BE 60

        12  DIVIDED BY A HUNDRED.  THAT'S THE INCREASE IN IE'S HITS,

        13  100 MINUS 40, WHICH IS 60, DIVIDED BY THE TOTAL DECREASE

        14  IN HITS, 200 MINUS A HUNDRED, OR 60 PERCENT.

        15           NOW, SUPPOSE THAT IT HAPPENS TO BE THE CASE THAT

        16  THE NUMBER OF HITS ON THE NEW SITES--THAT IS, THE SITES

        17  PREVIOUSLY UNSURVEYED--ON IE HAPPENED TO BE ZERO.  LET'S

        18  CALL THESE "N" FOR NEW.  THESE ARE THE NEW IE HITS, IE

        19  HITS ON NEW SITES AT TIME ONE.  SUPPOSE THAT WERE ZERO.

        20  AND SUPPOSE THAT THE TOTAL HITS ON NEW SITES AT TIME ONE

        21  WERE 100.  THAT'S VERY UNLIKELY, BUT I'M DOING THIS TO

        22  MAKE AN ARITHMETIC POINT, AND I WILL SAY WHAT THE GENERAL

        23  PROPOSITION IS IN A MINUTE.

        24           IN THAT CASE, WHEN YOU LOOKED AT THE ADKNOWLEDGE

        25  DATA AND DEALT WITH IT IN THE WAY IN WHICH I HAVE, WHAT
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         1  YOU WILL FIND IS THAT THE MEASURED IE INCREMENTAL SHARE

         2  WOULD BE EQUAL TO 60 BECAUSE YOU GET THE SAME INCREASE IN

         3  IE HITS IN THE ADKNOWLEDGE DATA, 40 TO A HUNDRED, BECAUSE

         4  THERE WEREN'T ANY ON THE NEW SITES.  BUT THIS TIME WE

         5  DIVIDE IT NOT BY ONE HUNDRED BUT BY 200 BECAUSE THE TOTAL

         6  OF NUMBER OF HITS YOU WERE LOOKING AT IS MEASURED--WOULD

         7  BE THE TOTAL ON THE PREVIOUSLY SURVEYED SITES PLUS THE

         8  TOTAL ON THE NEW SITES, SO IT'S 200 MINUS THE HUNDRED, AND

         9  THAT'S THE FIRST HUNDRED, AND YOU WOULD GET 30 PERCENT.

        10  AND OBVIOUSLY, 30 PERCENT WOULD, IN THIS CASE, GREATLY

        11  UNDERSTATE IE'S SHARE.

        12           NOW, OBVIOUSLY IT IS VERY UNLIKELY, AND I

        13  CERTAINLY DON'T CONTEND FOR A MINUTE THAT IT'S TRUE, THAT

        14  IE'S SHARE OF HITS ON NEW SITES IS GOING TO BE ZERO OR

        15  ANYTHING LIKE IT, BUT ONE CAN SEE THAT IT IS GOING TO

        16  MATTER TO THE QUESTION OF ARE YOU UNDERESTIMATING OR

        17  OVERESTIMATING IE'S SHARE, WHAT IE'S SHARE OF HITS IS ON

        18  THE NEW SITES, AND I'M PREPARED TO SAY EXACTLY HOW IT

        19  MATTERS.

        20           IT IS POSSIBLE TO PROVE, WHICH IN THIS CASE IS

        21  NOT A FANCY WAY OF SAYING I KNOW IT IS TRUE BUT I DON'T

        22  KNOW HOW, BUT IT IS POSSIBLE TO PROVE THAT PROVIDED IE'S

        23  SHARE OF HITS ON THE NEW SITES IS LESS THAN IE'S TRUE

        24  INCREMENTAL SHARE, THAT YOU WILL HAVE--YOU WILL FIND THAT

        25  THE MEASURED SHARE UNDERSTATES THE ACTUAL SHARE.  AND IT'S
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         1  EASY TO SEE WHY, AND IT'S EASY TO SEE WHY ONE WOULD

         2  BELIEVE THIS.  YOU START WITH A SITUATION IN WHICH

         3  NETSCAPE HAS A RELATIVELY HIGH SHARE OF THE INSTALLED

         4  BASE, AND THAT SHARE IS FALLING.

         5           THE NEW SITES, THE HITS ON THE NEW SITES, INCLUDE

         6  POSSIBLY HITS FROM NEW BROWSERS, BUT THEY ALSO INCLUDE

         7  HITS FROM--BY NETSCAPE USERS IN THE INSTALLED BASE, ALSO

         8  BY IE USERS IN THE INSTALLED BASE.  AND THAT PART OF THE

         9  HITS IS GOING TO BE WEIGHTED TOWARD NETSCAPE.  THAT'S

        10  LIKELY TO BE RATHER SMALLER FOR IE'S SHARES.  WHAT I'M

        11  SAYING HERE IS IE'S SHARE OF THE INSTALLED BASE IS GOING

        12  TO BE LESS THAN IE'S INCREMENTAL SHARE.

        13           AND SO LONG AS THAT IS TRUE--IN THIS CASE I HAVE

        14  TAKEN THE SHARE OF THE INSTALLED BASE TO BE ZERO, BUT SO

        15  LONG AS THAT IS TRUE, IT WILL TURN OUT THAT THE WAY WE

        16  HAVE MEASURED IE'S INCREMENTAL SHARE USING THE ADKNOWLEDGE

        17  DATA UNDERESTIMATES THE TRUE MEASUREMENT IF YOU CORRECT

        18  FOR--IF YOU COULD CORRECT FOR THE INCREASED SITE SURVEY

        19  PROBLEM.

        20  Q.   NOW, BEFORE THE BREAK--

        21           THE COURT:  I THINK I FOLLOW YOU.  I'M NOT SURE I

        22  WILL TOMORROW MORNING.

        23           THE WITNESS:  I WOULD BE GLAD TO DO THE PROOF IN

        24  MATHEMATICS.  NOBODY WANTS ME TO DO THOSE THINGS.  I GET

        25  THE SAME REACTION AT THE DINNER TABLE AT HOME.
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         1  BY MR. BOIES:

         2  Q.   YOU SAID BEFORE THE BREAK THAT THE CALCULATION OF

         3  IE'S INCREMENTAL SHARE THAT YOU DID FROM THE ADKNOWLEDGE

         4  DATA WAS THE SAME AS A CALCULATION OF INCREMENTAL SHARE

         5  THAT MICROSOFT DID.

         6           DO YOU RECALL THAT?

         7  A.   IT'S NUMERICALLY THE SAME, YES.

         8  Q.   BY NUMERICALLY, YOU MEAN THEY'RE BOTH 57 PERCENT?

         9  A.   I MEAN THEY ARE BOTH 57 PERCENT, AND THEY ARE BOTH

        10  DONE USING THE SAME METHOD OF CALCULATING INCREMENTAL

        11  SHARE.  THEY ARE NOT DONE FROM THE SAME DATA.

        12  Q.   THAT IS, THEY ARE NOT DONE FROM THE ADKNOWLEDGE DATA?

        13  A.   THAT'S RIGHT.

        14  Q.   THE MICROSOFT SHARE IS NOT?

        15  A.   RIGHT.

        16  Q.   NOW, WHAT IS THE SIGNIFICANCE TO YOU OF THE FACT THAT

        17  MICROSOFT INTERNALLY, IN THE REGULAR COURSE OF ITS

        18  BUSINESS, CAME UP WITH AN INCREMENTAL SHARE THAT IS THE

        19  SAME WITH WHAT YOU CAME UP WITH USING THE ADKNOWLEDGE

        20  DATA?

        21  A.   WELL, A, THE FACT THEY USE THE SAME METHODOLOGY

        22  SUGGESTS THAT THIS IS SOMETHING THEY DIDN'T REGARD AS

        23  SILLY.  AND THE FACT THEY CAME UP WITH APPROXIMATELY THE

        24  SAME SHARE SAYS THAT, YOU KNOW, OTHER PEOPLE IN THE

        25  BUSINESS, MICROSOFT IN PARTICULAR, DID A SIMILAR
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         1  CALCULATION, CAME UP, AS IT HAPPENS, WITH EXACTLY THE SAME

         2  RESULT, AND THEY THOUGHT IT WAS RIGHT.  THAT SUGGESTS TWO

         3  PEOPLE HAVE DONE THIS IN, SO TO SPEAK, TWO DIFFERENT WAYS

         4  AND COME UP WITH THE SAME ANSWER.  THAT SUGGESTS THE

         5  ANSWER IS LIKELY TO BE RIGHT.

         6  Q.   NOW, AS PART OF YOUR ANALYSIS, DID YOU ATTEMPT--

         7  A.   I'M SORRY, THERE IS ONE MORE THING ABOUT THE

         8  ADKNOWLEDGE DATA.

         9           MR. LACOVARA ASKED ME TO COMPARE THE FORECAST OF

        10  IE'S SHARE MADE BY--I DON'T REMEMBER WHETHER IT'S

        11  PRONOUNCED GIGGA (PHONETIC), JIGGA (PHONETIC) OR GIE-GA

        12  (PHONETIC), BUT G-I-G-A, AND THE SHARE IS SHOWN IN

        13  ADKNOWLEDGE, AND IT SHOWS IE'S SHARE IN ADKNOWLEDGE AS

        14  CONSIDERABLY LOWER THAN IN G-I-G-A'S FORECAST.  BUT THAT

        15  DOES HAVE SOMETHING TO DO WITH THE DEFECT IN THE

        16  ADKNOWLEDGE DATA.  THAT HAS TO DO WITH CACHING BY AOL.

        17  AOL IS MUCH UNDERREPRESENTED IN THE ADKNOWLEDGE DATA, AND

        18  IF IT WERE TO BE REPRESENTED WITH ITS CORRECT WEIGHT, THE

        19  SHARE WOULD BE SOMEWHAT HIGHER.  I DON'T KNOW HOW MUCH

        20  HIGHER.

        21  Q.   THAT IS, IE'S SHARE CALCULATED THROUGH THE

        22  ADKNOWLEDGE DATA?

        23  A.   YES.

        24  Q.   AND YOU'RE SAYING THAT IN CONJUNCTION WITH COMPARING

        25  THE ADKNOWLEDGE ESTIMATE TO THE GIGA ESTIMATE?  IS THAT
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         1  WHAT YOU'RE SAYING?

         2  A.   YES.

         3  Q.   OKAY.  AS PART OF YOUR ANALYSIS, DID YOU TRY TO

         4  DETERMINE WHETHER THE INCREASE IN IE'S SHARE THAT YOU

         5  CALCULATED IN THE DECREASE IN NETSCAPE'S SHARE WAS THE

         6  RESULT SIMPLY OF MICROSOFT COMING OUT WITH A BETTER

         7  PRODUCT OR OFFERING IT AT A MORE COMPETITIVE PRICE?

         8  A.   OH, INDEED I DID.

         9  Q.   AND WHAT DID YOU CONCLUDE?

        10  A.   WELL, THAT IS A PRINCIPAL PURPOSE OF THE THREE-LINE

        11  GRAPH--I NOW HAVE IT IN FRONT OF ME, AND I COULD REFER TO

        12  IT BY ITS PROPER NAME, WHICH IS GOVERNMENT EXHIBIT 3.

        13  MAYBE IT WOULD HELP IF WE SHOWED THAT.  THANK YOU.

        14           ONE OF THE POINTS OF DOING THIS IS TO BE ABLE TO

        15  COMPARE THE INCREASE IN IE'S SHARE IN VARIOUS FORMS WITH

        16  WHAT WOULD HAVE BEEN THE INCREASE IN IE'S SHARE DUE SIMPLY

        17  TO SUCH THINGS AS TECHNOLOGICAL IMPROVEMENT.

        18           THE BOTTOM LINE, THE LINE FOR ISP PARITIES, SHOWS

        19  ABOUT A TEN PERCENTAGE POINT INCREASE OVER THIS PERIOD

        20  AMONG ISP'S WHO ARE NOT CONTRACTUALLY RESTRICTED, AND THAT

        21  INCREASE INCLUDES THE EFFECTS, SUCH AS THEY ARE, OF

        22  TECHNOLOGICAL IMPROVEMENT IN IE.  IT INCLUDES OTHER

        23  EFFECTS AS WELL, BUT IT CERTAINLY INCLUDES THOSE EFFECTS.

        24           AND ONE CAN SEE THAT THAT'S NOT, COMPARED TO THE

        25  OTHER LINES, A VERY BIG INCREASE IN THE SHARE AT ALL.
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         1  Q.   NOW, AS PART OF YOUR ANALYSIS CONCERNING WHETHER OR

         2  NOT THE INCREASE IN IE SHARE AND DECREASE IN NETSCAPE

         3  SHARE IS DUE TO OTHER FACTORS OTHER THAN PROCOMPETITIVE

         4  ACTIONS, DID YOU EXAMINE THE EXTENT TO WHICH MICROSOFT

         5  TOOK ACTIONS THAT FORECLOSED NETSCAPE FROM DISTRIBUTION

         6  CHANNELS?

         7  A.   I DID.

         8  Q.   AND WHAT DID YOU FIND IN THAT RESPECT?

         9  A.   WELL, MICROSOFT TOOK SUBSTANTIAL ACTION TO FORECLOSE

        10  NETSCAPE BOTH FROM DISTRIBUTION THROUGH THE OEM CHANNEL

        11  AND FROM DISTRIBUTION THROUGH THE ISP CHANNEL, GENERALLY

        12  THOUGHT TO BE THE TWO MOST IMPORTANT CHANNELS OF

        13  DISTRIBUTION.

        14  Q.   NOW, IS IT IMPORTANT TO YOUR ANALYSIS WHETHER THERE

        15  WERE OTHER CHANNELS OF DISTRIBUTION--FOR EXAMPLE, MAIL

        16  DISTRIBUTION, CARPET BOMBING, HANDING COPIES OUT AT

        17  SHOPPING MALLS--THAT COULD BE USED, AT LEAST

        18  THEORETICALLY, TO DISTRIBUTE BROWSERS?

        19  A.   WELL, I CAN'T DECIDE WHETHER IT'S IMPORTANT OR NOT.

        20  IT'S NOT IRRELEVANT.  ON THE OTHER HAND, THE FACT THAT

        21  IT'S POSSIBLE TO DISTRIBUTE THROUGH MUCH LESS EFFICIENT

        22  CHANNELS, THROUGH MORE COSTLY CHANNELS, DOES NOT--THE FACT

        23  IT'S POSSIBLE TO DO THAT MIGHT MAKE THE COMPETITIVE--THE

        24  ANTICOMPETITIVE EFFECT A LITTLE LESS SEVERE THAN IF IT

        25  WEREN'T POSSIBLE TO DO THAT.  BUT THE FACT THAT THOSE
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         1  CHANNELS ARE MORE COSTLY MEANS THE EFFECT IS STILL

         2  ANTICOMPETITIVE.

         3           THERE IS A WELL-RECOGNIZED PHENOMENON RECOGNIZED

         4  IN THE ECONOMICS LITERATURE CALLED "RAISING RIVALS' COSTS"

         5  THROUGH WHICH FIRMS GAIN POWER.  THAT'S ONE WAY OF

         6  DESCRIBING WHAT'S GOING ON HERE.

         7           PUT A LITTLE DIFFERENTLY, IF THERE WERE TWO

         8  CHANNELS OF DISTRIBUTION AND ONE OF THEM COST, LET'S SAY,

         9  A PENNY PER UNIT TO GET INTO CONSUMERS' HANDS

        10  SUCCESSFULLY, AND THE OTHER COSTS A DOLLAR PER UNIT TO GET

        11  INTO CONSUMERS' HANDS SUCCESSFULLY, THEN THE FACT THAT THE

        12  SECOND ISN'T FORECLOSED IS, I SUPPOSE, BETTER THAN IF IT

        13  WERE FORECLOSED, BUT IT CERTAINLY PRODUCES ABOUT 99 CENTS'

        14  WORTH OF FREEDOM FOR THE FORECLOSING PARTY.

        15  Q.   IS THE CONCEPT OF RAISING RIVALS' COST AS AN

        16  ANTICOMPETITIVE PRACTICE WELL-ACCEPTED IN ECONOMICS?

        17  A.   INDEED IT IS.

        18  Q.   YOU HAVE TALKED ABOUT BROWSERS, AND YOU HAVE TALKED

        19  ABOUT JAVA, AND YOU INDICATED IN ONE OF YOUR ANSWERS THAT

        20  THERE WAS A RELATIONSHIP BETWEEN THE TWO.  COULD YOU

        21  EXPLAIN THAT RELATIONSHIP.

        22  A.   YES.  IE, NOT SURPRISINGLY, CARRIES WITH IT

        23  NETSCAPE'S--SORRY.  IT MAY NOT BE SURPRISING THAT I COULD

        24  GET IT WRONG AS I SPEAK WITHOUT THINKING.  LET ME START IT

        25  AGAIN.
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         1           IE, NOT SURPRISINGLY, CARRIES WITH IT MICROSOFT'S

         2  JVM'S, JAVA VIRTUAL MACHINES.  IT CARRIES WITH IT WHAT

         3  MICROSOFT WANTS IT TO CARRY.  BY PUSHING IE AND PUSHING IT

         4  WHEREVER IT COULD, ONE OF THE THINGS THAT MICROSOFT

         5  ACCOMPLISHED WAS TO MAKE SURE THAT ITS JAVA VIRTUAL

         6  MACHINE, RATHER THAN SOMEBODY ELSE'S, WAS BEING WIDELY

         7  DISTRIBUTED AND PREVENTED JAVA VIRTUAL MACHINES FOR

         8  WINDOWS WHICH WOULD RUN PURE JAVA FROM BEING WIDELY

         9  DISTRIBUTED.

        10  Q.   IN TERMS OF THE BROWSERS, YOU'VE TALKED BOTH ABOUT AN

        11  ATTEMPT TO MONOPOLIZE THE BROWSER MARKET AND AN ATTEMPT TO

        12  MAINTAIN POWER IN THE OPERATING SYSTEM MARKET, IS THERE

        13  ANY DIFFERENCE IN THE LEVEL OF CONTROL OR MARKET DOMINANCE

        14  THAT MICROSOFT HAS TO ACHIEVE IN THE BROWSER MARKET TO

        15  ACHIEVE THOSE TWO SEPARATE GOALS?

        16  A.   YES, I THINK THERE IS.

        17  Q.   WOULD YOU EXPLAIN WHAT THAT IS.

        18  A.   SURE.

        19           IT'S NEVER EASY TO DECIDE WHAT THE MARKET SHARE

        20  IS THAT'S REQUIRED FOR MONOPOLY POWER IN A PARTICULAR

        21  MARKET.  AND I THINK I SAID THE OTHER DAY THAT HOW MUCH

        22  WAS REQUIRED FOR MICROSOFT IN THE BROWSER MARKET FOR

        23  MONOPOLY JUST DIRECTLY OF THE BROWSER MARKET, THAT WOULD

        24  DEPEND ON HOW THE OTHER SHARES WERE DISTRIBUTED.  THERE

        25  WOULD BE A DIFFERENCE, FOR INSTANCE, BETWEEN HAVING TWO 50
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         1  PERCENT SHARES AND HAVING ONE 50 PERCENT SHARE AND THEN

         2  TEN FIVE PERCENT SHARES.  THE POWER WOULD BE GREATER IN

         3  THE LATTER CASE.

         4           BUT WHATEVER THOSE NUMBERS ARE, MICROSOFT DOESN'T

         5  HAVE TO ACHIEVE THAT KIND OF POWER IN THE BROWSER MARKET

         6  SUCCESSFULLY TO PROTECT ITS OPERATING SYSTEM MONOPOLY IN

         7  THE OTHER MARKET.  IT'S A MONOPOLY IN THE OPERATING

         8  SYSTEMS MARKET.  WHAT IT HAS TO DO IS GET A SUFFICIENTLY

         9  HIGH SHARE TO INSURE THAT WHAT I REFERRED TO BEFORE AS THE

        10  PARADIGM SHIFT DOESN'T HAPPEN, TO INSURE THAT OTHER

        11  PEOPLE'S BROWSERS, PARTICULARLY NETSCAPE'S BROWSER OR

        12  NETSCAPE'S BROWSER PLUS JAVA, DOES NOT BLOSSOM INTO

        13  SOMETHING THAT BECOMES A SERIOUS ALTERNATE PLATFORM.

        14           AS I SAID BEFORE, THERE IS A MICROSOFT DOCUMENT

        15  THAT SUGGESTS THAT THEY THINK THEY WON THAT BATTLE, AND

        16  THAT'S WITH THEIR SHARE NOT MUCH ABOVE 50 PERCENT.

        17  Q.   IN TERMS OF WINNING THAT BATTLE, IS THE TREND OF

        18  SHARE IMPORTANT AS WELL AS THE ABSOLUTE SHARE NUMBER AT

        19  ANY GIVEN POINT IN TIME?

        20  A.   YES, I THINK IT IS.

        21  Q.   WELL, WHY IS THAT?

        22  A.   WE DISCUSSED THIS A BIT BEFORE THE BREAK.

        23           THE APPLICATION BARRIERS TO ENTRY RESTS, IN PART,

        24  ON NETWORK EFFECTS, AND RESTS ON WHAT SOFTWARE DEVELOPERS

        25  WILL DO.  SOFTWARE DEVELOPERS WANT TO WRITE IN THE FIRST
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         1  INSTANCE FOR THE OPERATING SYSTEM OR FOR THE PLATFORM THAT

         2  IS MOST WIDELY USED.  THEY'RE GOING TO CARE ABOUT NOT ONLY

         3  WHAT PLATFORM IS NOW BEING MOST WIDELY USED, BUT IN

         4  THINKING ABOUT WHAT THEY'RE GOING TO WRITE TO, WHAT

         5  PLATFORM WILL BE MOST WIDELY USED BY THE TIME THE

         6  APPLICATION IS READY OR DURING THE PERIOD IN WHICH THE

         7  APPLICATION IS STILL, AS IT WERE, CURRENT AND ALIVE.  IF

         8  THEY LOOK AT THE TREND AND SEE THAT THE TREND OF--THE

         9  TREND OF SHARE IN BROWSERS IS THAT NETSCAPE IS FALLING AND

        10  MICROSOFT IS RISING, THAT'S NOT GOING TO MAKE THEM MORE

        11  LIKELY TO WRITE FOR NETSCAPE, AND THEY'RE LIKELY TO SAY,

        12  WELL, PERHAPS IT'S NOT AS LIKELY THEY WILL WRITE TO

        13  NETSCAPE AS THEY WOULD IF THE SHARE WERE STABLE AND AT THE

        14  SAME AMOUNT, BECAUSE BY THE TIME THEY HAVE WRITTEN IT AND

        15  THE TIME IT GETS USED, THE EFFECTIVE SHARE IS GOING TO BE

        16  LESS.

        17           THE COURT:  IF THERE IS AN APPROPRIATE POINT, WE

        18  WILL BREAK FOR THE DAY?

        19           MR. BOIES:  IT IS, YOUR HONOR.

        20           THE COURT:  VERY WELL.  11:00 TOMORROW MORNING.

        21           MR. BOIES:  THANK YOU.

        22           (WHEREUPON, AT 4:40 P.M., THE HEARING WAS

        23  ADJOURNED UNTIL 11:00 A.M., THE FOLLOWING DAY.)

        24

        25
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         1                   CERTIFICATE OF REPORTER

         2

         3           I, DAVID A. KASDAN, RMR, COURT REPORTER, DO

         4  HEREBY TESTIFY THAT THE FOREGOING PROCEEDINGS WERE

         5  STENOGRAPHICALLY RECORDED BY ME AND THEREAFTER REDUCED TO

         6  TYPEWRITTEN FORM BY COMPUTER-ASSISTED TRANSCRIPTION UNDER

         7  MY DIRECTION AND SUPERVISION; AND THAT THE FOREGOING

         8  TRANSCRIPT IS A TRUE RECORD AND ACCURATE RECORD OF THE

         9  PROCEEDINGS.

        10           I FURTHER CERTIFY THAT I AM NEITHER COUNSEL FOR,

        11  RELATED TO, NOR EMPLOYED BY ANY OF THE PARTIES TO THIS

        12  ACTION IN THIS PROCEEDING, NOR FINANCIALLY OR OTHERWISE

        13  INTERESTED IN THE OUTCOME OF THIS LITIGATION.

        14

                                    ______________________

        15                          DAVID A. KASDAN
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